Szl0m
e Vzo

e = o

4
27y

3 R P P s A N T,
» o {x7>¢25 L@QM

Cb) ke lok = W V‘j 199k et
F0 2 Rulp

AL I\/




0 g1 TR
W V716 420 Pz 2okw

o3| V2 TixV
200005 TEx b
ﬁz 26000 = 1250 N
L&

"P;" T ’550“[000334@ =)
(250 -5 10 :lan)an
00 5 Qoo 9O

ub‘«g W/L/@wh /_05) ,r\]ce 7@ v PE+ WAV reo
{xmxlé = lOOOj 5{%9 + 5'70&2/
113( 06O = 7009 1—750?

e 0L L e

* (/10u COUJJ\ Lmamu&ﬂ-x /’t\ub U’)VU NLL oAk nvarr s



TONE IR
@O)ﬁklﬁj B Of{7vl

1 ~ T
(Jixl'x\l =H ]rf (’g) % é/xllxll(’j)y'- %) x?A ()5:}
( Ilé'qn‘)(ij = 93’7“/ - /-Lflr/

BEE)

/*\’_/__/\/—\_/
(b)
l{,,l',
‘o d\\ i
4 (RN
ﬁq€)= :.)2__:);
Iy
6= Isly



Z-gpz ngu\é[)xl-l/ = L?G')él?xz/{ .,3~\9C040></A =)
J3 K(} 5 /&A(?.,«_ 2’_‘8
-
2&&: EMU
Ly: 5r9
23
B ST R 22
St Flyzo o Fz Smg

A3

M Fs pull
e
[gﬁ/ﬂ G

i
7 (65
Ve



